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1. WERE f EEXA] [a,0] LTS, BAFAE M >0, {15
If'(x)| < M, Ve la,b]

EH
fla) + f(b)

flz) - =2 < -M(b—a), Yzela,b]
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2. WS f EXIE [a,b] LIS £ (a,0) EFS, B f(a) = f(b) = 0. iF
WA, F71E € € (a,b), 1513

FEO+F©) =0 (Fa: NENHBEE g(x)f(x) S PEEHE)

3. W ay € (0,7), apy1 = sina,, n =1,2,---. KWK lim,, . /na,.
Xt na? #FpiEMH L'Hospital 1£0).)

4. WHREL f 7R 2o Ak 2 BYATR, UERH
lim f(xo +h)+ f(xo —h) —2f(x0)
h—0 h?
5. WHEREL f ZEM zo & 2 TR, H f7(20) 2 0. B HEEHE, 210 7
SN FEAE 60 = 0(h), 0 < 0 < 1, {15

= f"(wo).

f(@o +h) — f(xo) = f'(x0 + 6h) - h.

ER] lim6 = 3.
h—0
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1. &E‘ﬁ f %E){—i o ﬁl‘ﬂ@, Tp <Xy < Yn, E— Tn — Lo, Yn — X0, ﬁEH)ﬂ
lim f(@n) — f(yn)

n—ox0 Tn — Yn

= f'(wo).

2. BERREL f 7E (a,b) LI, Hoa < <y <b,i=1,2,--- ,n. iE, F714E
¢ € (a,b), fiif5

[F(i) = f(@)] = £1(€) X (yi — m3).
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